Red and Green
1) A school has 2397 non-fiction books and 5831 fiction books. How many books are there in the library?

2) There are 5367 children in a school. 2886 are boys. How many are girls?

3) A builder orders 67876 bricks. He uses 5674 of them. How many are left?

4) The Peters family went touring in their camper van. They travelled 5673 km in their camper van in the first week and 4578km in the second week. How far did they travel on their holiday?

5) 67899 people see a film in the afternoon. 6728 people see it in the evening. How many people saw it altogether?

6) A fleet of planes carry 56773 passengers to New York. There are 24689 passengers on the way back. How many fewer passengers are there on the return journey?

7) A supermarket sells 80265 bottles of red wine, 5367 bottles of white wine and 45673 bottles of rose wine. How much wine did they sell altogether?

8) Jack starts the week with £156.86 in his wallet. He spends £76.50 on a coat and £59.99 on some jeans. How much did he spend? How much did he have left?
Yellow, Orange and Blue
1) A school has 397 non-fiction books and 531 fiction books. How many books are there in the library?

2) There are 536 children in a school. 218 are boys. How many are girls?

3) A builder orders 876 bricks. He uses 567 of them. How many are left?

4) The Peters family went touring in their camper van. They travelled 5673 km in their camper van in the first week and 528km in the second week. How far did they travel on their holiday?

5) 678 people see a film in the afternoon. 1328 people see it in the evening. How many people saw it altogether?

6) A fleet of planes carry 773 passengers to New York. There are 681 passengers on the way back. How many fewer passengers are there on the return journey?

7) A supermarket sells 265 bottles of red wine, 367 bottles of white wine and 673 bottles of rose wine. How much wine did they sell altogether?

8) Jack starts the week with £156 in his wallet. He spends £76 on a coat and £59 on some jeans. How much did he spend? How much did he have left?

